35.8 fb (13 TeV) 35.8 fb (13 TeV)

T FCMs  elutets « Data T FCcMs  elutets « Data
3 L particle level Sys [ stat 8 L particle level Sys [ stat
a Stat o Stat
=3 + POWHEG P8 =3 + POWHEG P8
ol o~ ¥ SHERPA CS ol o~ ¥ SHERPA CS
u‘% === POWHEG H++ u‘% £ === POWHEG H++
- MG5 P8 [FxFx] F - MG5 P8 [FxFx]
L sy
10 . 107
102 102k
2lg 14F 2o E
2|8 2|8 12f
= = r LL ‘ .
ﬂWﬁ' """"" T
. , . 08k , . ‘
100 150 200 250 300 350 50 250 300 350
p,(b) [GeV] p,(b) [GeV]
35.8 fb (13 TeV) 35.8 b (13 TeV)
— — 10g
S r CMS elutjets o Data S E CMS elutjets o Data
$ L particle level Sys [ stat $ e particle level Sys [ stat
o Stat o r Stat
=3 + POWHEG P8 =N e + POWHEG P8
ol o % SHERPA CS ol o~ 1 % SHERPA CS
35 - - POWHEG H++ U‘% E - - POWHEG H++
- MG5 P8 [FxFx] P -+ MG5 P8 [FxFx]
10t ES 2
102 1072
gle gz f
g g 2
= = E l
1 1r l
08k = ‘ 08
’ 50 100 150 200 250 300 350
p.(,,) [GeV]
35.8 fb (13 TeV) 35.8 fb™ (13 TeV)
< FCMS  elutets « Data < 1E=CMS  elutiets « Data
$ particle level Sys [ stat $ E particle level Sys [ stat
< Stat e . Stat
= + POWHEG P8 = ;F{» + POWHEG P8
ol o % SHERPA CS ol o~ 1n1 - % SHERPA CS
35 ==« POWHEG H++ v‘% 107 = f ==« POWHEG H++
10 - MG5 P8 [FxFx] E - MG5 P8 [FxFx]
107 &
10° =
&le gl
3z 8|5 15k
= = F
LRk
&
ST SOr TSI I 05k ‘ ‘ ‘ ‘ ‘
50 100 150 200 250 300 350 400 450 500 50 100 150 200 250 300 350
p,() [GeV] P, () [GeV]
35.8 fb™ (13 TeV) 35.8 fb™ (13 TeV)
S ECMS  elutets « Data S CMS  elutets « Data
g r particle level Sys [ stat g particle level Sys U stat
o [ Stat o Stat
2 10t + POWHEG P8 = + POWHEG P8
oo E % SHERPA CS ol o~ % SHERPA CS
Sy E «- - POWHEG H++ 'c‘% - - POWHEG H++
F bT - MG5 P8 [FxFx] .. MG5 P8 [FxFx]
1025 ﬁ
10° = T L
> P
Sls Sls
[ [
-

200 250 80 100 120 140 160 180 200
p,(,) [GeV] PG, [GeV]



